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Questions

For questions 1-10 decide whether each number is rational or irrational. Explain.

1 V17
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6 V144

8 vi121

10 v 0.0004
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For questions 11-15 decide which two whole numbers the square root is between.
Explain.

11 V5

12 V10

13 V45

15 V178
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For questions 16-20 estimate the value to the nearest one decimal place.

16 V24

17 V75

18 V120

19 V50

20 V200
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Answers

e A
Question Question Answers Standard

number

1 V17 V17 is irrational 8.NS.A.1
because 17 is not a
perfect square, and its
square root cannot be
expressed as a fraction.

2 V81 V81 is rational 8.NS.A.1
because 81 is a perfect
square, and its square
root is 9, a whole
number.

3 V27 3/27 is rational 8.NS.A.1
because 27 is a perfect
cube, and its cube root
is 3.

4 V48 V48 is irrational 8.NS.A.1
because 48 is not a
perfect square, and its
square root cannot be
expressed as a fraction.

5 364 3v/64 is rational 8.NS.A.1
because 64 is a perfect

cube, and its cube root
is 4.

6 v1.44 Vv 1.44 is rational 8.NS.A.1

because 1.44 is a
perfect square, and its
square rootis 1.2.
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e A
Question Question Answers Standard
number
7 V2.5 V2.5 isirrational 8.NS.A.1

because 2.5 is not a
perfect square, and its
square root cannot be
expressed as a fraction.

8 V121 V121 is rational 8.NS.A.1
because 121 is a
perfect square, and its
square rootis 11.

9 V77 V77 s irrational 8.NS.A.1
because 77 is not a
perfect square, and its
square root cannot be
expressed as a fraction.

10 v/ 0.0004 v/ 0.0004 is rational 8.NS.A.1
becauseVv 0.0004 =

0.02, which can be
expressed as a fraction

2
100 -

11 V5 V4=2andv9=3s0 | 8NSA.1
\/5 is between 2 and 3

12 V10 V9 =3and V16=4, | 8NSA.
so v 10 is between 3
and 4

13 V45 V36 =6andv49 =7, K 8NSA.l
so V45 is between 6
and 7

14 /88 v/81 =9and v100=10, 8.NS.A.1
so Vv 88 is between 9
and 10

\_ J
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e A
Question Question Answers Standard

number

15 V178 V169 = 13 and v 196 8.NS.A.1
=14,s0Vv178 is
between 13 and 14

16 V24 V24 ~ 4.9, becausev'24 = 8.NS.A.1
is betweenv16 =4

and v25 = 5.

17 V75 V75~ 8.7, becausev75 8.NS.A.1
is between v 64 = 8

andv/81 = 9.

18 V120 V120 10.9, because | 8.NS.A.1
\/m is between
v/100 = 10 and
V121 =11,

19 V50 v/50 ~7.1, becausev'50 | 8.NS.A.1

is between vV49 =7
and v 64 = 8.

20 /200 \/ﬁzlél.l, because 8.NS.A.1
v/200is between
v/196 = 4 and
V225 = 15.
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